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Choose appropriate answer from the options in the questions.  
(100 × 1 = 100 marks) 

1. The universal feature of all societies are. 
a) growth, development and progress   
b) cooperation, conflict and competition 
c) urbanisation and industrialisation   
d) Tradition and modernity 
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2. ‘The clash of interests’ in known as 
a) Class struggle b) Competition 
c) Cooperation d) Conflict 

3. The scientific study of humanity is known as 
a) Anthropology b) Sociology 
c) Social Well being d) History 

4. Every culture contains a large number of guidelines which direct conduct in a 
particular situation. Such guidelines are known as 
a) Norms b)  Culture 
c)  Folkways d)  Mores 
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5. Unit of social structure is 
a) Institution b)  Association 
c) Social Groups d)  All of these 

6. Which of the following is considered as society’s main resource for social 
experimentation? 
a) School b) Family 
c) Mass-media d) All of these 

7. When a person occupies two or mote role with incompatible role obligations, it is 
known as 
a) Role distance b) Role set 
c) Role conflict d) Deviation 

8. The heart of the process of socialization is the emergence and gradual 
development of 
a) Idea b) Self 
c) Belief d) Values 

9. Who is the father of socialization? 
a) Auguste Comte b)  Abraham Maslow 
c) George Herbert Mead d)  Adam Smith 

10. Which of the following statement/s is a potential drawback of community 
participation in decision-making? 
i. It can lead to conflicts and disagreements among community members. 
ii. It can decrease transparency and accountability in the decision-making 

process. 
iii. It can result in decisions that are less representative of the community as a 

whole. 
a) Only ii b) Only i 
c) Only iii d) None of the above 
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11. Non-judgmental attitude is related to: 
a) Client b) Social worker 
c) Agency d) Incident 

12. India ratified the United Nations Convention on the Rights of the child in: 
a) 1991 b) 1992 
c) 1993 d) 1989 

13. The type of justice that is concerned with making and implementing decisions is 
referred to as: 
a) Redistributive justice b) Distributive justice 
c) Procedural justice d) Restorative justice 

14. Which one of the following is not secondary data in Social research? 
a) Information collected from Journals  
b) Information collected from Reports 
c) Information collected from Respondents 
d) Information collected from Websites 

15. The idea of the whole being greater than the sum of its parts is related to which 
theory 
a) Psycho analytical theory b) System theory 
c) Transactional d) Gestalt theory 

16. Which one is not a function of social work 
a) Curative Function b) Preventive Function 
c) Developmental Function d) Correlational Function 

17. Identify the objective of social work 
a) To change the environment in favour of individual’s growth and development 
b) To bring change in the defective social system for social development 
c) To provide socio-legal aid to the needy who cannot afford to meet them 
d) All of the above 
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18. Prison reform, probation, and parole come under which function of social work. 
a) Curative Function b) Preventive Function 
c) Developmental Function d) Correctional Function 

19. Universe of study is defined as: 
a) Coverage of study b)  Geographical area 
c) Total number of units d)  Unit of study 

20. Who coined the term conjugal family? 
a) William J. Goode b)  Talcott Parsons 
c) Cooper d) Murdock 

21. The orderly and systematic presentation of numerical data in a form designed to 
illustrate the problem under consideration is known as 
a) Coding b) Decoding 
c) Tabulation d) Cross tabulation 

22. Social Problem are treated with social reform and 
a) Social legislation b)  Social Work 
c)  Social Science d)  Social service 

23. Who has described “Society is a web of relationship” 
a) Mead b) Ogburn 
c) Leacock d) Maclver 

24. The social security measures adopted in ancient India by: 
a) Kautilya b) King Ashoka 
c) Samudra Gupta d) Suklacharya 

25. How many Fundamental Rights have been provided by the Constitution of India? 
a) Eight b) Nine 
c) Five d) Six 
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26. ‘Economic Justice’ as one of the objectives of the Indian Constitution has been 
provided in 

a) The Preamble and the Fundamental Rights 

b) The Preamble and the Directive Principles of State Policy 

c) The Fundamental Rights and the Directive Principles of State Policy 

d) None of the Above 

27. ___________ is an aggregate which lacks organization and whose members 
may be unaware of the existence of the grouping 

a) Social group b) Secondary group 

c) Quasi-group d) Spatial group 

28. ___________ groups are characterized by impersonal relations and 
specialization of functions 

a) Primary b) Secondary 

c) Out-group d) Neighbourhood 

29. Deviance is not: 

a) A human behaviour b)  A disapproved direction 

c) Beyond tolerance level of society d)  Glorified behaviour 

30. Alterations in various aspects of society overtime. 

a) social movement b) social change 

c) sociological imagination d) dynamic sociology 

31. When was the National Bank for Agriculture and Rural Development (NABARD) 
set up? 

a) 1969 b) 1975 

c) 1982 d) 1991 
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32. Which stratification system is more open? 

a) community b) slavery 

c) class d) caste 

33. What is the current poverty line in urban areas of India? 

a) Rs.1,056/month b) Rs.1,100/month 

c) Rs.1,200/month d) Rs.1,286/month 

34. Which theory states that the human population grows more rapidly than the food 
supply until famines, war or disease reduces the population? 

a) Malthusian Theory  

b) Optimum Theory 

c) Theory of Demographic Transition  

d) None of these 

35. New Economic Policy refers to 

a) Economic liberalisation or relaxation in the import tariffs, deregulation of 
markets 

b) Economic reforms aimed to take a step to enhance central planning and 
allow the economy to become more independent 

c) Made in India through privatisation, liberalisation and globalisation 

d) All of the above 

36. Which of the following ministries is responsible for the report on India’s national 
and per capita income? 

a) Ministry of Finance 

b) Ministry of Planning 

c) Ministry of Statistics and Programme Implementation 

d) Ministry of Human Resource Development 
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37. When a large number of workers get unemployed due to automation of industrial 
processes, this phenomenon is called __________. 
a) Cyclical unemployment b) Disguised unemployment 
c) Structural unemployment d) Seasonal unemployment 

38. Which of the following is NOT a feature of the joint family system? 
a) In it family size is very large 
b) In it each unit of the family has its own head 
c) In it the head of the family commands high respect 
d) in it all the members have common kitchen 

39. In which type of marriage, the relationship between two married people, 
especially their sexual relationship are mentioned: conjugal 
a) Consanguineous b) Polyandry 
c) Polygamy d) conjugal 

40. Identify the agency of socialization where there is constant interaction among 
people living near one another or people of the same locality. 
a) Domicile b) School 
c) Neighbourhood d) Family 

41. Identify who propounded the Looking Glass Theory. 
a)  G. H. Mead b)  B.F. Skinner 
c)  Horton Cooley d)  Urie Bronfenbrenner 

42. Choose the stage which is not specified by Mead in his theory of self 
a) Preparatory stage b) Identification stage 
c) Game stage d) Play stage 

43. Which one of the following categories of Fundamental Rights incorporates 
‘Abolition of Untouchability’? 
a) Right to Religion b) Right to Equality 
c) Right to Freedom d) Right against Exploitation 
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44. The protection of Human Rights Act in India was enacted in the year. 
a) 1993 b) 1994 
c) 1995 d) 1996 

45. What is the ‘double burden’? 
a) It refers to the disproportionate share of housework done by women 
b) It dates to the seventeenth century 
c) It is rooted in gendered conceptions of the distinction between public and 

private life 
d) All of the options given are correct 

46. The idea of the gender-sensitive lens came from which feminist theorist? 
a) Tickner b) Enloe 
c) Peterson and Runyan d) None of the options given is correct 

47. Which of the following is not tribal movement? 
a) Tebhaga movement b) Chuars movement 
c) Bhils movement d) Kolis movement 

48. Which tribal movement is considered to be the most well organized and 
extensive movement? 
a) Santhals b) Birsa Munda 
c) Tana Bhagar d) Sardari 

49. Which scheme promotes community participation through involvement of 
Students Volunteers for empowerment of rural women? 
a) She-Box portal  
b) Pradhan Mantri Mahila Shakti Kendra scheme 
c) NAND-GHAR YOJANA  
d) None of the above 
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50. Name the online platform launched by the Ministry of Women and Child 
Development to support women entrepreneurs? 
a) Mahila E-haat b) One Stop Centre Scheme 
c) Digital India d) None of the above 

51. Who proposed the Preamble before the Drafting Committee of the Constitution? 
a) B.R. Ambedkar b) Mahatma Gandhi 
c) B.N. Rao d) Jawaharlal Nehru 

52. The Final approval to the five-year plans of India is given by 
a) NITI Aayog b) President of India 
c) National Development Council d) Ministry of Finance 

53. Who is the chairman of NITI Aayog? 
a) Prime Minister b) Home Minister 
c) President of India d) Finance Minister 

54. Which fundamental rights cannot be suspended even during an emergency? 
a) Right to Speech b) Right to Religion 
c) Right to Equality d) Right to Life and Personal Liberty 

55. Which of the following are Fundamental Duties? 
a) Safeguarding public property 
b) Protecting the sovereignty, integrity and unity of India 
c) Developing scientific temper and humanism 
d) All the above 

56. Impersonal relationship is the hallmark of ___________ group. 
a) Secondary group b) In group 
c) Tertiary group d) Vertical group 
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57. Which is the social cause of juvenile delinquency? 
a) Broken Homes b) Poverty 
c) Beggary d) All of the above 

58. World Literacy Day is celebrated on           
a) 8th September  b)  2nd October 
c) 15th July d) None 

59. ___________ was abolished by the Act of 1829. 
a) Infanticide b) Child Marriage 
c) Sati d) None 

60. Full form of POSH Act, 2013 is 
a) Prevention of sexual harassment, 2013 
b) Prevention of sexual health, 2013 
c) Prevention of slave harassment, 2013 
d) Prohibition of sexual harassment, 2013 

61. International Covenant on Civil and Political Rights (ICCPR) has recognised the 
following: 
a) The need to provide with education 
b) The need to provide health kits 
c) The need to provide equal rights for men and women 
d) The need to provide jobs 

62. Corruption is caused due to: 
a) Greed of money and desires b) Low economic freedom 
c) Nepotism d) Fraud 

63. Our distinctive and characteristic patterns of thought, emotions, and behavior are 
collectively called 
a) Genotype b) Traits 
c) Cognition d) Personality 
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64. Another term for reinforcement is: 
a) stimulus b) reward 
c) response d) condition 

65. Which among the following is the highest level need under the Need Hierarchy 
Theory of Motivation? 
a) Physiological Need b) Self-Actualization Needs 
c) Social Needs d) Self-esteem Needs 

66. All of the following are periods of prenatal development except: 
a) Germinal b) Embryonic 
c) Fetal d) Postpartum 

67. What is the single largest factor determining the trajectory of an adult’s mental or 
physical status in the years beyond age 65? 
a) Health  
b) Personality 
c) Socioeconomic status  
d) The size of the social support network 

68. Who said, “Man is a Social Animal”? 
a) Aristotle b) Comte 
c) Plato d) Socrates 

69. In a democratic society the role of a leader is not 
a) To involve people in decision b) To take unilateral decision 
c) To encourage decentralisation d) To decrease social tensions 

70. ________ refers to a pattern of behaviour expected of the occupant of the status. 
a) Position b) Personality 
c) Character d) Role 

71. Who coined the term ‘Cultural Lag’? 
a) Michael Zarate b) John Dewey 
c) William F. Ogburn d) Richard L. Brinkman 
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72. Culture consists of 
a)  Knowledge b) Norms 
c)  Language d) Lawyer 

73. Find out an example for ascribed status 
a) age b) college professor 
c) doctor d) lawyer 

74. The term social structure was used first time by       
a) Naddel b) Herbert Spencer 
c) Talcott persons d) Malinowski 

75. The status given on the basis of birth is known as         
a)  ascribed status  b)  role status  
c)  achieved status  d)  fixed status 

76. The protection of Human Rights Act in India was enacted in the year 
a) 1995 b) 1994 
c) 1993 d) 1996 

77. Status which one gets according to his ability is 
a) role status b) fixed status 
c) ascribed status d) achieved status 

78. Which one of the Schedules of the Constitution given below deals with 
recognised languages? 
a) Schedule 8 b) Schedule 7 
c) Schedule 12 d) Schedule 9 

79. Which of the following is not a gender-based violence? 
a) Prostitution b) Female infanticide 
c) Homicide d) Sex-selective abortion. 

80. Child Marriage Restraint Act was passed in the year 
a) 1982 b) 1976 
c) 1961 d) 1929 
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81. The first legislation for social security I India was concerned with the 
a) Workmen compensations b) Provident Fund to employee 
c) Maternity Benefit d) Insurance 

82. Identify the system which aims not at punishing a fault but at protecting society 
against criminal acts. 
a) Social security b) Social action 
c) Social defence d) None of these 

83. Which of the following benefits is covered under social security schemes? 
a) Retirement benefits b) Compensation facilities 
c) Medical facilities d) All of the above 

84. Which of these is not mentioned in Persons with Disabilities Act (1995)? 
a) Compulsory education b) Early detection 
c) Social security d) Non-discrimination 

85. Inductive research was proposed by 
a) Aristotle b) Socrates 
c) Plato d) None of these 

86. The very important variable for assessing nutrition of under 5 children is/are: 
a) weight b) height 
c) age d) all of above 

87. It is the collection of data concerning the living and working conditionals of the 
people in a given community. 
a) sampling  b)  social survey 
c) case study d) data collection 

88. What is the name of the conceptual framework in which the research is carried 
out? 
a) Research hypothesis b)  Synopsis of Research 
c) Research paradigm d)  Research design 
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89. Which of the following features are considered as critical in qualitative research? 
a) Collecting data with the help of standardized research tools 
b) Design sampling with probability sample techniques 
c) Collecting data with bottom-up empirical evidence 
d) Gathering data with top-down schematic evidence 

90. Programmes for the care and protection of neglected and delinquent children; 
welfare of prisoners, reformation and social reintegration of persons released on 
probation, suppression of immoral traffic, beggary prevention are examples of 
a) Social security b) Social action 
c) Social defence d) None of these 

91. How is random sampling helpful? 
a) Reasonably accurate  
b)  An economical method of data collection 
c)  Free from personal biases 
d)  All of the above 

92. In order to pursue the research, which of the following is priorly required? 
a) Developing a research design 
b) Formulating a research question 
c) Deciding about the data analysis procedure 
d) Formulating a research hypothesis 

93. Which one among the following statement is true in the context of the testing of 
hypotheses? 
a) It is only the alternative hypotheses that can be tested 
b) It is only the null hypotheses that can be tested 
c) Both the alternative and the null hypotheses can be tested 
d) Both the alternative and the null hypotheses cannot be tested 

94. Which of the following does not correspond to characteristics of research? 
a) Research is not passive  
b) Research is systematic 
c) Research is not a problem-oriented  
d) Research is not a process 
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95. Which one is called non-probability sampling? 
a) Quota sampling b)  Cluster sampling 
c)  Systematic sampling d)  Stratified random sampling 

96. Identify the full form of SPSS. 
a) Statistical Programming for Social survey  
b) Survey Programme for Social Sciences 
c) Statistical Package for the Social Sciences 
d) Statistical Package for Science Subjects 

97. To calculate the median, all the items of a series have to be arranged in a/an 
a) Descending order b) Ascending order 
c) Ascending or descending order d) None of the above 

98. The sum of deviations from the __________ is always zero. 
a) Median b)  Mode 
c)  Mean d)  None of the above 

99. One-to-One Interviews, Focus groups, Observation, Longitudinal studies, Case 
studies belong to which type of data collection methods. 
a) Quantitative b) Qualitative 
c) Hermeneutic d) None of the above 

100. Given below are statements: 
Statement I :  Data analysis in research being a technical job, ‘research ethics’ 

does not matter.  
Statement II :  ICT is helpful at almost all stages of research. 
In the light of the above statement, choose the correct answer from the option 
given below: 
a) Both Statement I and Statement II are true 
b) Both Statement I and Statement II are false 
c) Statement I is true but Statement II is false 
d) Statement I is false but Statement II is true
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